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You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, h\

objective type question paper and leave other circles blank.

relevant circle in front of that question number on computenzed answer sheet. Use marker or pen to fill the circ
Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in
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S.# Questions A B C D
1 (7a9)+(3’_5)=: (739) (3’_5) (1O>4) (4,10)
2 | Which cannot be used as binary operation? Addition “+’ | Division ‘=’ Mum?}f atien qt:f;gr’oot
3 If adjoint of a matrix A = [_31 _%-J, then =1 -2 -4 3 4" 2 4 2
o 4 3 -2 1 3 =1 -3 -1
matrix A is:
1
4 | Rank of the matrix % is: 0 1 2 3
0
5 Whicheqﬁationhasroots2and -37 x2+_x+6=0 xX24x—6=0|x2-x-6=0|x*-x+6=0
6 Ifr(?Cftso'ftheequatlonx +px+q—0'are‘ p=0 g =1 p=q
additive inverse of each other, then which is true?
2
X“+x-1 . ; e Degree of Degree of Degree of Degree of
7 | =————— will be an improper fraction, if:
Q) i Q¥=2 | Q®>2 | Q®=3 | Q¥#2
8 | Sum of 5 A.Ms between 2 and 8 is: 10 40 25 50
9 If‘a and b are negatlve d1~stm.ct real numbers, then A>G H<G A<G A>G>H
with usual notations, which is correct? :
10 | Which cannot be the term of a G.P. ? -1 o £ &) 1 5
N 2
11 A coin is tossed 5 times, then total number of 108 \X’\\ /2 5 20 32
outcomes n(S) = : Qe
NNy g
12 | 2nd term in the expansion of (1-x)7! is: \PAdB! 2x X =X
; _ Cannot be
13 | secB-cosecO-sinf-cosO = 1 -1 0 determined
14 Ina rlght angled triangle, the side opposite to right Base Fiymotenuse |Petpendiovlae|  Altude
angle is called:
- 3 - 1 1 15
15 | If sina =3 cosa =7, then value of sin2a = 5 3 144 1
. . 3n 27
16 | Period of 2 +cos3x is: T > 27 3
17 In gy trig ngle ABC, a=4,5=10, y =30° then 5 sq.units 20 sq.units 1‘0 sq.units | 40 sq.units
arca of triangle A =:
If a, b and c are the sides of a triangle ABC, then
18 | 24+b2-a? _ cosa cosy cosP cosZ o
2be B
19 | If sin'a=0, then value of a is: —723 yid 0 0&m
The solution of the equation 2sinx ++/3 =0 in 4th 3 om =% i
20 3 3 3 6

quadrant is:
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Intermediate Part First » Roll No.
MATHEMATICS, .( Subjective)  Group — I
Time: 02:30 Hours Marks: 80 P (30 “GQl-2|

SECTION -1
2. Attempt any EIGHT parts: 16

(i) Doestheset { 1 ,— 1} possess closure property with respect to addition and subtraction?
(ii) Find the difference and product of the complex numbers (8,9 )and (5,-6)
(iii) Find the multiplicative inverse of (\/—2_ , =5 )
(ivy fU={1,2,3,4,5,..... ,20yand A= {1,3,5,..... , 19} verify AUA'=U
(v)  Write the inverse and contrapositive of the conditional ~q— ~p
(vi) Ifa, b are elements of a group G then show that (ab)“1 =bla”!
(vii) Find xandy if [":33 3y[ e [j H
(viii) If A and B are square matrices of the same order, then explain why in general (A +B)(A ~B) # A? -p?

o  P+y 1
(ix) Without expansion verify that [} y+a 1{=0

Yy o+f 1
(x)  Use the remainder theorem to find remainder when first polynomial is dividad by second polynomial

X2 +3x+7, x+1
(xi) Find the condition that one root of the equation x? + px +q=0 is multiplicative inverse of the other.
(xii) Discuss the nature of roots of the equation 2x* + 5x —1=0
3. Attempt any EIGHT parts: ‘ ' 16
(i) Resolve —23—)(—-—11—— into partial fractions without finding constants.
x“+D(x+3)
3 2 _
(ify Change SR 08 =i into proper rational fraction.
2x—x-
(iii) Find the indicated term of the sequence 1, -3, 5, -7, 9, —-11,..... , g
(iv) If a,_3=2n-135 find the nth term of the sequence.
a
(v)  Find the nth term of the geometric sequence if a_s =-g— and a, :%
3

(vi) Find A, G, H and verify that A>G>H(G>0)ifa=2andb=38.
(vil) Writen(n—1)(n-2)..... (n—r+1)in factorial form.

(viii) Find the value of n when " P, =30

(ix) A die is rolled. What is the probability that the dots on the top are greater than 4.

(x) Using binomial theorem expand (a + 2b)’.
1
(xi) Expand (1-x)2 up to 4 terms.
(xii) Using binomial theorem to find the values of J99 to three places of decimals.
4. Attempt any NINE parts: ‘ 18

(i)  Find ¢, when 8 = mradians , r = 6cm

- § . 2_7_(_:_ . 2__7£ 21{_ -
(i)  Verify sin 3 +sin 3 + tan i 2
(iii) Prove that sec®8—cos ec?0 = tan® 0 — cot?> 0
(iv) Without using the table, find the value of sin(-300°)

1 '

v)  Prove that cos(a +45°) = —=(cosa —sina
v) ( ) 5 ( )
(vi) Provethat cota —tana =2cot2a
(vii) Find the period of tan—?—
(viii) Find the greatest angle of triangle ABC ifa=16,b=20,c=33

(Continued P..... 2)
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© (ix) Find area oft“ridnélé,ABC, given sidesarea=18,b=24,c=30

(x) Provethat 1 1 1y =152

(xi) Find the value of tam(cos‘1 —\2—3———)

(xii) Find the solution of the equation sinx = 156— which lies in [0, 2]
1

xiii) Solve cotO = where 6 € [0, 2%
(xiii) = ( ]

SECTION —II  Attempt any THREE questions. Each question carries 10 marks.

2
b+c a a

.(a)Showthat {c+a b b?|=(a+b+c)(a-b)(b-c)(c-a)
a+b (v &

(b)If o, B are the roots of equation ax?+bx+c =0 then form the equation whose roots are %,—B%—
o
. (a)Resolve into partial fractions: ———92—-—
x+2)(x-1)

(b)If the HM and A.M between two numbers are 4 and —g— respectively, find the numbers.

. (a)Prove that: nler + I]_ICH =" i
5 \2

(b)Determine the middle term in the expansion of (—)1; s —XZ—J

. (@)If cotO = = and the terminal arm of the angle is in the I-quadrant, find the values of M
2 ’ cosO—sin6
2sin0sin20
(b)Prove that 50 +cos30 = tan 26 tan 0

R )
. (a)Showthat—lz-+L+ 1,1 _a+b+c
r

A
(b)Prove that 2tan™ % =sin™! %
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Objective
Paper Code
6196

B0 4

Time: 30 Minutes

relevant circle in front of that question number on computerized

2

Intermediate Part First

MATHEMATICS (Objective) Group —1II

Marks: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill the

Roll No. :

W
3¢

W

answer sheet. Use marker or pen to fill the circles.

Q.No.1 Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in
objective type question paper and leave other circles blank.
S.H# Questions A B C D
1 | For any two real numbers a and b, G? is equal to: AH % —% vAH
If i , L are two harmonic means between 1 1 1 1
ol 3 10 1T iE)
a and b, then value of b is: »
3 {fay=n+(-1)",thena, = 10 11 9 -11
) is proper fraction, if degree of the Greater Not equal
4 x% +1 Equal to 2 . Less than 2
; . than 2 to2
polynomial P(x) is: .
5 | Degree of a constant polynomial is: 1 A 0 2 Arbitrary
2 _ % ‘(\\\ :w«
6 ?f one root of x“+ax +2=0 is 2, then value of a rg} \ﬂ/ 4 3 9
1S: o S
ey v
7 |IfA= [2 1} then cofactor of 6 is: \ ;\'“1/ -6 1 5
& 3 c’\\j/u,‘;'
8 | The matrix [ 7 ] is: N \/ Row matrix Squa_r ¥ Colurpn All these
[ matrix matrix
9 | If ~p—>q is a conditional, then its converse is: q—>~p ~q->p p—=>~q ~q—o~p
If r is the radius and C is the circumference of a
10 C 0 Iz 2n L
circle, then value of ¢ 2 : 2n
The solution of equation tanx = .. lies in
11 3 [& 10 &1 &IV [& IV
quadrants: :
_hT - it -n ki3 ki
12 | If x =sin 7 then value of x is: > 3 3 ¢
) g abc _
13 | With usual notations, N 4R r R rs
In any triangle ABC, if two sides and their _ly Lo, . N
14 included angle is given, then area of triangle is: = 2 besina —z—absm ¥ A= 2 aesinff ) Allthese
15 | Period of 200530% is: —g— 4n 2n 8n
16 | Value of sin7n is equal to: 1 —é— ~1 0
17 | Angle %73 lies in quadrant: 1 IS I 1AY
18 | If£=1.5cm,r=2.5cm, then value of 8 is: 3.75 rad —z-rad 0.60 rad %rad
) oL 2 2 4 2 3
19 | The 2nd term in the expansion of (1 -2x)3 is: A Th [ ke R
20 The number of permutations of the word 10 60 20 120

PANAMA are:

18-X1121-12000




Intermediate Part First

()~ Find @ when £ =1 5¢m ; 1=2.5cm

(i) Verify sin60° €0s30° — cos60° sin30° = sin30°
(iif)  Prove that 200529—1=1~25inz(§)

(iv)

v)

Prove that cos(o + 45°%) = %2(005 o -sin)

MATHEMATICS (Subjective)  Group — II
Time: 02:30 Hours Marks: 80 &Q-ﬂz -2/
A SECTION -1
Y, 2. Attempt any EIGHT parts: 16
N -21
()  Simplify ()2
(i) Show that 77 =| 72
(iii) - Find multiplicative inverse of —3 —5j
(iv)  Find converse and inverse of ~p— ~ q
(v)  Write {X|xe0A3<x< 12} in descriptive and tabular form.
vi)  Show that subtraction is non-commutative on ‘N,
(vi)
S ol X43 1 | 2 1
(vii) Find x and y xf[ 3 3y_4j—[~3 ZJ
(viii) Find inverse of | =2 3
-4 5
6 7 8
(ix)  Without expansion show that [ 3 4 5 |- 0
2 3 4
{ (x)  Evaluate (1 +o-w?)?
) (xi)  When the polynomial x3 + 2x2 4 kx + 4 is divided by x — 2, the remainder is 14. Find value of k,
(xii) If e, B are the roots of 3x2 - 2x + 4= 0, then find the value of Lz +BL2
o
3. Attempt any EIGHT parts: 16
2
(i) Write only partial fraction form of x3 ol without finding constants.
X7 +1
o 7X+5 ; ] .
(ii)  Resolve m into partial fraction.
(iif)  Find the 13th term of the sequence x| | 32=%,3-2x,.....
(iv)  Show that reciprocals of the terms of the geometric sequence a; , ar? arrt, . form another geometric
sequence. '
2 -
(v) If y=l+—+xT+ ..... show that x=2(yle
' . I 1 1
(vi)  Find the nth term of H.P. 7% T
| (vii) Write Lni;l(g—)(;};l) in the factorial form,
(viid) Find the value of n when "p, : "p, _g.|
(ix)  Find the number of diagonals of a 6-sided figure.
(xX)  Prove the formula 1+2+44+ . .. +2n-1 =2"~1for n=1 .
(xi)  Using binomial theorem, expand (a+2by
(xii) Expand (2-3x)7 upto 4-terms,
4. Attem t any NINE parts: 18
p P

If o, B and v are the angles of triangle ABC then prove that sin(a+ ) = sin(y)

( Continued P
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(vi) Express Esin(39) cos a;s sum or difference. Fap-q 2"'{

(vii) Find the period of tan(%)

(viii) Find the value of sin53°40

(ix) Find area of triangle ABC,
(x) Find the valueof a ifa="7

(xi) Show that tan(sin™!x) =

(xii) Solve the equation sinx =

if a=200;b=120andy=150°
;b=7,c=9
X

1—-x*

1
2

1

xiii) Find the solutions of cot0=—— ; 8 € [0, 2n
(xiii) NES [ ]

SECTION —II  Attempt any THREE questions. Each question carries 10 marks.
x 1 1 1
. @Showthat |1 X 1 1 ls(ad) x-1p
1 1 1 x
2 2
(b)Prove that =+ (mxb;— ©)" _1 will have equal roots if ¢® = a’m?® + b?
a

1

. (a&)Resolve into partial fraction: DX =—H%=D
n n
(b)For what value of n, :1_1 i:“‘l is the positive geometric mean between a and b.
a

. (a)Prove that: n_ICr + C._

3
—-—5-(—:1;—) b gasis then prove that y? +2y—2=0

3
2
. ()If cosecH = m—zr:i and m>0 (0 <B< -723) find the values of the remaining trigonometric ratios.

(b)Prove without using calculator sin19°cos11°+sin71°sin11° = L

2

. (a)Show that r; =4R cos% . cos% . sin—g—
in1 2 4 sin~! L = cog 1293
(b)Prove that sin {3 +sin 55 =05 357
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